i B F & X
A1:5=1/500 (A3:1/1,000)

f He if
Qg

SHAEEHTES L=169. 2n (5 5 2 1 )L L ENSH ¢ 500 L=158. 6m, & 4 5 A JLEFEEEKR 6400 L=10. 6m )

BEE%E (DIP ¢ 400) AT L=37.7m BEER & (DIP ¢ 400) ERFEIEMIRT L=66. 4m BE% & (DIP ¢ 400) AT L=65. Im

IP.2
1A= 2-17-04
a1, R = 1800.00
. TL=  35.89
Hhas|so4 i o= T71.77
) Sl= 0.36 ii]
7 s Kt i i
g B e ANEIER) &
2 U A a
17 | | o # |
5 . e o
S < i
Lo Th A = '
' ‘ I < ' $‘ 3 3 =
WV, = = [ N o Il N i
: " 0
ool F 2|5t =E SE = o, £
5 / R Tlal kS S = 2 >
< g N & = - b =
o ) zmwm 2 ‘ = ‘U ) =8 _
i o ) Oa
]
o ‘OR?V\UW‘
== i 3 e = == IV ] i~ L e Vo
5 ——— = T Wl ' [ T ww i r . o g :_'\ N mé\{‘];
1 4.0n l l l \ N ‘.:TN.N’\NN. S\
5B A " - I \ : of v i ]
o wn BART ; } L g | - ; )
’ " i N \ \r 1 M w [T \
t et ! \ [ ! |
J i
| E

© smam sowm %
iy T
i 4
s l
B

i | A £

&M 4 FE

T £ | RE-EHEEREKEARELIS

BIMmE|RETR %4 A

B|HETER

0 10 20 30 40 50m
|
L

S 1 : : : B2 o xh 18 [®WR |5

gEHETKERLETKER




1

500

#

1
100
(A3:200)

"
i

it B m X

4,

I

T I

(A3:1,000)

THAEE

i

H 1A

bl &

]

£ | g 14

o ) E

L | ®

#

T | = e

@ || =

fio m |

il S| #

no| B e | m

mo | # |

@ ||

w |m|m |
a B

#lw

H £

2 M Lt FTKER E T KE

i

f

& pE
.|
w8
[
=
= 2 e
e
.
! Hoz1 68 90712z 50°1 90°1+
e 3 001 68 [|00°0Lz [|8e 81 6°ON
S=
Wﬂ
“_N P @w, GG °62+8 ON
%, -,
| Hel
HE Rt
W Lol 2 2
T 1 e 19288 [|29-152 [|2570 @9 3
o w ® 2971178 ON floss 88 fig0°1az fi50 11 EINTEY K
S S 11
mm = =
T
£
Haps ‘88 f 00 0vz fs6°8 8°ON
&_ﬂﬁ 397621 ON s
£E
‘ Hose ‘88 f50°1ez f66°8 5012+
wa»\._
2\ J
DM il
Py - 911758 v99°2 [lo1s g8 Hose 88 f1902zz fi10°11 9021+
L s07 'S8 || 5011z ffso°1 50" 1+
/ / 9L '8 00°01Z [|56°8 LON
° I < 69v'2 [lezt g8 [{265 28 fl50 10z f00 0l s0lzf = g
’ =|gwo " 8
% o “ -
[ 3|82 o
@ % alg 4
@Mw 8 p) / AR =
£ 18 %8 | 50°161 oz 5011+
P\ E
€ T _, / 68.°2 [leze w8 Hzis 18 flse 98l fise 9 g8 9+
/ / 085 8 | 007081 f156°8 970N
02 °61+5 "ON ,_ ,_ @.E 1662 [l6czv8 o1z 18 g0 iet fvi et 50°1z+
8
I £08 L
n 980 78 167651 11982 A
— L28°C Y50 8 {18898 S0 ISL SO 'L G0+
I — 200 %8 00°081 [|g¥ L 50N
© 2902 [|6g6es H{1zz 98 flss zvl fos il 5522+
= )
E o
N - - .
Y = g2
= = BEE
5 = S 292 loz8-es [{10s°98 flso tel fso il 5011+
< 4TE
g gee 83
= S P
g gs
N K < ln
B : — 1 90L°¢8 i 00021 f116°1 N TR
@ = | | £89°€8 [ €OBLL 187 (e Berfi o
i = 9152 flas9°e8 [{1c198 flassii gy st §n
o v05°2 [|v09°¢8 |{801 98 150°1i1 0001 otz
Y N =F]
N e
& £| 2
N 267 €8 || 50°101 f00°01 5011+
® B
W T
™
g L - - 8ee'z [ocees 1ol 50 16 o'l 50" 1+
' = =s|EE 89¢ €8 0006 |92 £ N
b= e LIR7%
I ! = By 0822 [|80cc8 [|8s5g8 flaL b8 f19°2
4 2 < 602 €8 | vi'z8 (el a5
2 voall W
R sizes | 1oL ffoes
b (17 7914)
D
J % ~ 8912 [lvsies Hzze'ss lso L fovy 5011+
M 21z flsoies Hrezss 5999 fs9°9 99 9+
~ 080 €8 | 0009 9678 Z N
=
N
T} ﬁ/ d ~ v00'2 162628 [ec6¥8 |90 15 fovy 5012+
|
i 99671 [l08sz8 [av8¥8 flg99r fas's 5991+ 88
<] g%
.Tn__ sL
£ por 28 018g (0% oleSH las™
& LTS
1 =g
m I 068"t Hsosz8 Haesv8 g0t fso'l 50 1+ W
s [E—— £69 28 00°0¢ |99 °81 LN 3%
e
<
%
%
%
@/w 891 flosyze [{esi¥8 sy it for's Ghll+
2 ko) / WW g ve6'l |leztze ||wovs Jors  flivo 9L g+
2 0970 GN f ﬂ ﬂ \ 12671 fl8llz8 60 %8 flse's f6LY gt g+
g2 a8s1 ||voez8 ||eveee [9s 0 [|og 0
C - v9€ 78 8831 f1v95 28 Hege €8 (000 f00°0 Gt i
=
°
dog
oS
BES
2 = |78
2 d5c
2 Al
2 3
%
98°92-0 0N
000 0=
8 S 8 1= =1 il
g = HBE Flelen|=w| = | = e
i g1
00kt = B | 1y g = fz
°
~ L= G| 4 | ® | || ow | G Y
B : ‘ %




5T Bt b E R (1/5)

A1:8=1/100 (A3:5=1/200)

NO. 0+11. 45
GH=84. 158
FH=82. 480
2000 8500 2500
1250 3000 3000 1250
BB
8866
_ “ 2.2% 2005 204 L 20
T o
| & [F— %
|
=& DdsstuWSO
DL=82. 00 ﬂ, po%0
BES
6200
2
w
NO. 0+5. 35 (NO. 0+5. 76)
GH=84. 039 (84. 047)
FH=82. 118(82. 123)
2000 8500 2500
1250 3000 3000 1250
BHE
8758
0.6% |2 y 200 o204 :
LS Gr
‘ L d §
DA 75
‘ Y e
425 /Wi % Dgﬁo o
Qs
DL=81. 00
RS
$200
8
S
3
w
NO. 0 (NO. 0+0. 56)
GH=83. 953 (83. 949)
FH=82. 364 (82. 364)
2000 8500 2500 7000
1250 3000 3000 1250
BB
190 7060 1600
0.4% 2 2.0% 2.0%
L e m— ~—14.04
s S ] —
H=0. 84m . l S H
5 Do D$350 - T
e sy
-7 TP & 501
DL=81. 00
BEn

$200

1250

THA4EE

T £ 2| RE-BEEREKEARELIS
BIME| REHR KR4 R
| FrEMER (1/5)

B2 o mp 3 s |[®R 4,

BEWLETFTXRKERLETKER




[t

B Bt b E X (2/5)

A1:8=1/100 (A3:8=1/200)

NO. 1+21. 05
GH=84.933
FH=82. 929
B
11000, 720 54 8500 2500
1250 3000 3000 1250
ERE
2894 8644

Toow| 2.0% 2.0%

=0

4 éndﬂso
F=E D250 D350
00

19. 60

/ ]
‘ b T=0
L8300 T 8 ool
Qvsfim
BES
200
=
-
NO. 1+16. 65
GH=84. 845
FH=82. 280
720,680 8500 2500 5000
1250 3000 3000 1250
BB
3007 8673
Joon| _2.04 2.0% 6.8 _
L H
| | O 7%
DL=83.00 h - T O
Qe
BES
200
3
w
NO. 1+1.05
GH=84. 535
FH=82. 705
720, 990 8500 o6
1250 3000 3000 1250
BRE .
3005 N 8985
_'2.04 2.0%
I T As ‘ L
Gr ‘ L J
DL=83. 00 |

B

THA4EE

T £ 2| RE-BEEREKEARELS

BIME| REHR KR4 R

| StEEmERE (2/5

B2 o mp ag |[®R 4,

BEWLETFTXKERLELTKER




5T Bt B E X (3/5)

A1:8=1/100 (A3:8=1/200)

NO. 2+24.75
GH=85. 588
FH=83. 308
1,800 8500 2500 9000
1250 3000 3000 1250
BB
25945 8455
_2.0% <=2, 0% 2.0%
— o L =
T bl
7 HP @ 150
T g&mi@,mﬁm%"wm 2R 0
\_
DL=83. 00 D400
(0] T
#1200
S
bl
NO. 2+11. 05
GH=85. 322
FH=83. 154
1,800 8500 500
1250 3000 3000 1250
BRE HE
2522 , 8478
__2. 0 2.0 2. 0%
— 15
— ‘ ! L. )
L. _/ i o
I EmE u@szs%“;gm
DL=83. 00 =/
HP ¢ 500 () D¢ 400
T
#1200
<
<
NO. 2+6. 65
GH=85.237
FH=83. 105
1,800 8500 2500 8000
1250 3000 3000 1250
BB
2528 § 8472
2. 2.0% 2.0%
_71.9%
: a
[ | I le) :
# f@m&ﬁmmﬁg £ 8
DL=83. 00
() D¢ 400

BEH
6200

4.40

THA4EE

T £ | RE-BEEREKEARELIS
BIME| REHR KR4 R
| FHEMEER (3/5)

B2 o xp s 2 |[BR 4,

BEWLETFTKRKER LT KER




&1 180 4% B X (4/5)

A1:8=1/100 (A3:8=1/200)

E

T

NO. 3+25. 55
GH=86. 171
FH=83. 665
8500 2500
3000 3000 1250
&
8316
L 204 208
¥

D75\
DL=84. 00 mmm D620 pg3s0
D¢ 400
S
@200
o
3
<
NO. 3+21. 05
GH=86.108
FH=83. 604
8500 2500
3000 1250
2664 8336 bl
_2.0b 2.0% 2.0%
W | —A i d
£ / | S |
L D@75 6 Gr
DL=84. 00 #jsE PO%0 06350
D400
RS
6200
S
]
NO. 3+1. 05
GH=85.717
FH=83.379
8500 2500 B0Q
3000 1250
8400
2.0% 2.0%
As
} o) Gr
g%ﬂ}’fﬁaﬂﬁ W2\ |
DL=83. 00

RS
6200

6.30

&M 4 FE

RE-BHTBEREKEMNRELSE

mEm &4 R

BT E A% BT E R (4/5)

£ 9 ¥ 6 & R 1/100

fEHLETKER LT KER




BT Bl b E X (5/5)

A1:8=1/100 (A3:8=1/200)

# B

NO. 5+1. 05
GH=86. 881
FH=84.054
1,800 8500 2500 500
1250 3000 3000 1250
EME
3315 . 1685
_ 204 2.04 _ 2.0%
7 I— I 3
el L\
DL=85.00 sk f’ 7 35 00280 S350
100
P XEKESHY-HEIHIE
‘ $200
3
]
NO. 4+22. 55
GH=86. 721
FH=83. 959
1,800 8500 2500
1250 3000 3000 1250
BE
222 7718
2.0 204 2.0%
— T L
]L— I 4 1M L
E. : ‘ doh
U ‘&éﬁi"é D$250° pgs0
DL=84. 00
f T
‘ 6200
3
NO. 4+11. 05
GH=86.501
FH=83. 829
PR
B . A
457 2
800 8500 2500 % >
= <
1250 | 3000 3000 1250 AN
EHE &
047 795 >
2.0% 204 _ 2.0% &
H |': Gr Vi s
L
TE 40~
y T D675
N\ éﬁﬂ;&"g D250 D 350
DL=84. 00 HP 6 600
BEH
6200

15.50

PILRE

THA4EE

T £ 2| RE-BEEREKEARELS
BEIME| REHR KR4 R
| FHEHEER (5/5)

B2 oxp 782 |[®BR 4,

BEWLETFTKRKERLETKER




NO. 0

A & & Ml X

NO. 0+3. 62m
NO. 0+0. 56mI INO. 0+1. 3|7m NO. 0+|5. 76m N0|, 1 N0|, 2 NO. 2+1|3. 13m

73 >4 1 %2 %3 14 %5 %6 7 %8 %9
81 21 ¢ ¢ Aus A\ 4 \'8 A\ A\ T \us <l
o
R
g F
NS#z ¢ 5001& & (SF&) NS#2 ¢ 5001& & (S7&)
6. 00m x 14=6. 00m 6. 00m x 12=6. 00m
0.81 [1.00 [1.0 3.02 6.00 6. 00 S48 4 )LEESLE ¢ 500 (NSH) & (SF8) 6. 00m x 9A4=54. 00m
0.07 0046 0.07 ' 0.07 0.07
XM X412 X413 X114
73.13
BIAR 5 88 (H=2. 5m) X L=31. 1m [EHHEHIE H=2. 38m] AR5 185 (H=3. Om) X L=60. Om [EHIEHIE H=2. 71m]
NO. 2+1| 3.13m Nol. 3 Nol. 4 NO. 4+24. 80m
NS?}Z(QSOO{%%
#10 11 12 13 14 #15 16 17 118 19 320
a A pail a yail pail A i a pail i
NF NF NE ~F NF NE NF NE ~F NF NE
954 LEEEE 500 (NSHZ) & (SFE) 6. 00m x 112=66. 00m 2.71
T
71.67
A8 5 88 (H=3. Om) Xf& L=60. 00m BIAH 5 18 (H=3. 5m) KRS L=78. 2m [F#EHI;E H=3. 21m]
[FIEHIE H=2. T1m] ‘
500 | $400
L=158.63m | L=10.57m
NO. 4+%4. 80m N0|. 5 NO. 5+|8. 63m NO. 5+1I 9.20m
KieZiELEEE K#z ¢ 4004 & K2 ¢ 400 1 EQL=1.91m
48 (¢ 400) 6 F (o408
SRR R (rEE. XA R () 75‘/?&@#05400
Xﬁ%%f%({iﬂ]#« 4% £ % BOX)
N @ YR GO NE_
22 v o BEEX & ¢ 400 (H=2.5m)
a4 |
AV
Kpp22.5 HEEE R T
(640003 K#z ¢ 400Z 4] & DL=3. 20m
(40007
K ¢ 4005 8] & DL=1. 26m KH ¢ 4005 4] & @L=3. 20m
F# (¢ 400)2 (¢ 40004
XXB S KBIEEE)
H9 84 VEESE ¢ 500 (NSH) E & (SF&)
6. 00m x 2=12. 00m o
12.00 1.0 .921.160.9 3.20 0/35 3.20 i T4 ER
o083 T H 0.17]0.17
I ¥ 2| RE-EEFEREKEMZBIS
24. 40
BMIME AET S5 HRA
BIAR 5 85 (H=3. 5m) X L=78.2m [FE#HHEHIE H=3.21m] ‘ fE|EEEHMER
1
£ 2 o xm s s |®R |,
fEMmMLETKERB LT K & R




H=2.21~3.57m

1 Al R

0.35 0.151]0.50

0.94~2.29

10

0.53

10

RE (FHE#H)

(#H%]

AEIBME W=2.25m

REIBME W=1.25m

RETI (EHR EACI3FA)

8 % Wi B
S =1

: 25

R [E (% KB AC20FA)

£ /= B A& (M-40)

1.00

0~1.29

T [ & i (RC-40)

& BK (RC-40)

ERED

DIP ¢ 500 (NSH2)

2 HltE W=1.25m

0.35 0.151]0.50

RE (FEEAR)

[BERERME]

AEIAME W=2.15m

fRE IHME W=1.15m

RET (EHEACISFA)

R [E (% KB AC20FA)

£ [ & & (M-40)

1.59~2. 94m

H=2.21~3.57m

ELXHY H
18 Bl R
1.66~3.02

1.00

0.66~2.02

XBAEHOERLICH-->TIE, REL (HEIECBR>10) 2FANC &,

T & % 2 (RC-40)

B K (RC-40)

#R (KAL)

R

7 N
{l I}
. 7

p—

=

CIP ¢ 400

#EAEIME W=1.15m

1.59~2. 94m

EL®Y H

fEm R4 A

TEHE X

M %

fiER

£ 9 ¥ 9 B 1/25

fE WM L T K & B £ T K &






